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WEST BENGAL STATE UNIVERSITY 

B.A/B.Sc. Honours 5th Semester Examination, 2020, held in 2021  

ECOACOR12T-ECONOMICS (CC12) 

Time Allotted: 2 Hours Full Marks: 50 

The figures in the margin indicate full marks. pািnক সীমার মধ°s সংখ°ািট পূণ�মান িনেদ�শ কের।  
Candidates should answer in their own words পরীkাথ�ীরা িনেজর ভাষায় যথা সmব শbসীমার মেধ° 
and adhere to the word limit as practicable. উtর কিরেব। 

All symbols are of usual significance. 

1. Answer any five questions from the following: 

িনmিলিখত েয-েকােনা পাঁচিট  pেűর উtর দাওঃ 
2×5 = 10

(a) Define sustainable development.  

েটকসই উnয়েনর সংjা দাও। 

 

(b) What is unbalanced growth?  

ভারসাম°িবহীন বৃিd কােক বেল ? 

 

(c) What is poverty line?  

দািরd° েরখা কােক বেল ? 

(d) What is hunger index?  

kধার সূচক কােক বেল ? 

(e) What is multilateral agreement?  

বhপািkক cিk কােক বেল ? 

(f) What is Gender Development Index?  

িলñ উnয়ন সূচক িক ? 

(g) What is Lorenz curve?  

লেরĂ েরখা িক ? 

(h) What do you mean by vicious circle of poverty?  

দািরেd°র dŶচk বলেত িক েবােঝা ? 

  
2. Answer any four questions from the following: 

িনmিলিখত েয-েকােনা চারিট  pেűর উtর দাওঃ 

5×4 = 20

(a) Explain the concept of cumulative causation.  

kম সিĀতকরেণর ধারণািট ব°াখ°া কেরা। 
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(b) Write a note on Bretton Woods Agreement.  

েbটন উডস cিk িবষেয় একিট টীকা েলেখা। 

(c) Why is ‘Big-Push’ needed in a less developed country?  

একিট sেlাnত অথ�নীিতেত ‘েজাের ধাkা’র pেয়াজন হয় েকন ? 

(d) Explain the characteristics of underdevelopment.  

অনুnয়েনর �বিশŶ°gিল ব°াখ°া কেরা। 

(e) Explain the concept of Human Poverty Index. 

মানব দািরd° সূচেকর ধারণািট ব°াখ°া কেরা। 

(f) How the balanced growth strategies differ from unbalanced growth strategies. 

সুষম উnয়ন েকৗশেলর সােথ অসম উnয়ন েকৗশলgিলর পাথ�ক° িক ? 

  
3. Answer any two questions from the following: 

িনmিলিখত েয-েকােনা dিট  pেűর উtর দাওঃ 

10×2 = 20

(a) What is economic development with unlimited supply of labour? In this context, 
discuss Lewis model of development. 

অɎরn Ëেমর েযাগান িনেয় আিথ�ক িবকাশ বলেত িক েবাঝায় ? এই pসেñ লুইস মেডলিট ব°াখ°া 
কেরা। 
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(b) Discuss the conflict between employment and surplus generation in the process 
of choice of techniques in less developed countries. 

উnয়নশীল েদেশ উৎপাদন েকৗশল চয়েনর pিkয়ায় কম�সংsান এবং উdbt সৃজেনর মেধ° িবেরাধ 
সmেক� আেলাচনা কেরা। 

(c) Explain the concept of ‘Human Development Index’ and indicate why it is a 
qualitatively better measure of economic development than per capita income. 

মানব উnয়ন সূচেকর ধারণািট ব°াখ°া কেরা এবং েকন এিট অথ�ৈনিতক উnয়েনর পিরমাপক িহসােব 
মাথািপছু আেয়র tলনায় gণগতভােব উnততর তা িনেদ�শ কেরা। 

(d) What is Globalization? Discuss the impact of Globalization on world income 
inequality. 

িবƬায়ন কােক বেল ? আয় �বষেম°র উপর িবƬায়েনর pভাব আেলাচনা কেরা। 
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 N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp 

to their own respective colleges on the same day / date of examination within 1 hour after 
end of exam. University / College authorities will not be held responsible for wrong 
submission (at in proper address). Students are strongly advised not to submit multiple 
copies of the same answer script. 
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